
Addition de Nombres Entiers (C)Utilisez la stratégie d’un nombre entier pour trouver chaque question.(-9) + (-68) = (-41) + (-36) = 9 + (-50) = 
67 + (-66) = 72 + 81 = 34 + (-37) = 
79 + 69 = 98 + 12 = (-43) + (-32) = 
(-34) + 3 = (-52) + (-82) = 75 + (-14) = 
22 + (-19) = (-80) + (-87) = 66 + 40 = 
(-7) + 74 = (-76) + 60 = 95 + 6 = 
11 + 45 = (-69) + 85 = (-6) + 57 = 
(-49) + (-94) = (-86) + 14 = 69 + (-98) = 
3 + (-57) = (-21) + (-79) = (-69) + 39 = 
(-99) + (-76) = 19 + 16 = (-64) + (-34) = 
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